ODD ONE OUT

Round 7



Question 1

Which is the odd one out?
Sandstone
Limestone

Basalt




Question 2

Which is the odd one out?
Deposition
Abrasion
Corrosion




Question 3

Which is the odd one out?
Mercalli
Richter
Saffir-Simpson




Question 4

Which is the odd one out?
Madagascar
India
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Question 5

Which is the odd one out?
Freeze-thaw
Saltation
Plucking
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Question 6
Which is the odd one out?
Kent
Lancashire
Cumbria




Question 7

Which is the odd one out?
Effusive
Apocalyptic
Explosive




Question 8

Which is the odd one out?
Suburbs
Inner City
Retall park




Question 9
Which is the odd one out?
Literacy rate
Death rate
GDP




Question 10

Which is the odd one out?
Ecosystem
Hemisphere

Biome




Answers: Round 7

Basalt
Deposition
Saffir-Simpson
Madagascar
Saltation

Kent
Apocalyptic
Retail Park
GDP

10. Hemisphere
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